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CHetA A=x® —4x+5, B=—x° —42° +3x+40i1A

(1) A+B (2) A—B
=" —4x+5)+(—x*—42°+3x+4)
— 2+ (A=) 2+ (—4+3)x+(5+4)

=—x'—32"—x+9

=(2* —4x+5)—(—x' —4x*+32+4)
=2’ —4x+5)+ (2* +42° —3x—4)
=2’ +(1+4) 2" +(—4—38)x+(5—4)
=x"+52°—Txr+1

02 Cretao| i (st 8&

X A+B=B+A
H(A+B)+C=A+(B+0)=A+B+C
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r=2+/3, y=2— /3L M, £*+4° 2| 2tS F5I042L.

xty=4, xy=1°|10% 23} y*& A7} AAtsto] Bsh= 2t o +y" & x+y ot ayol digt Ao
tretio] Stok= Zlo] © 7heksit,
A 34 (r+y) b=a* + 32"y + 32y’ +y* S s
S tyt=(r+y)® =32y —3xy’=(x+y)* —3xy (x+y)=4>—3x1x4=52
24y =2+ 3 ) +(2—J3)
={2°4+83x2° % {3 +3x2x ({3 ) +({3 )" }+{2° —3x2°x [3 +3x2x(J3)*—({3)}
=(26+153)+(26—153) =522 AIolH Aito] B B4THE & 4 Qlk,
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s +$x+x—< +I)+3<x+ )

3
:{<x+%) —3<x+%>}+3<x+%)
= (7°—3-7)+3-7=7"=343
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a—b=3,b—c=2¥9M, o> +b*+c*—ab—bc—ca®| S F6I02L,

a—b=3,b—c=20]E&
c—a=(c—b)+b—a)=—2+(-3)=—
a*+b*+c*—ab—bc—ca

:%(2g2+2b2+20272ab*2b072w)

— (@ = 2ab+6*)+(8* —2bc+ ") +(* —2ca+a’)}
:%{ (@b +(b—c)*+(c—a)*}

— {8 +2°+(-5)*}=19
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M 8x+6

f@)=@"+3z+3)(x—1)—x+5
=x’+22°—x+2
et 2 +2x° —x+2
=(x"—2x)(x+4)+7x+2
OJBE H=x+4, Y] =7r+20]c}
kA 3 8x+-6



